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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-1_0

Warning: col ['minFVliraw',

"minFVOraw' ] is missing

minFVI
minFVO

(] g: col ['ETcA2raw’,
@

ETcA2'] is missing

o ETcAlraw
—  ETcA1
—&— ETcA

0.2

0.4

0.6

[ee)
—_

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

8000

7000 -

6000

5000

4000

3000

2000

1000

pag

d

v &

*

Varning: col [ EGC IS missing

—@— ECopt
—0— ECI
—@— ECO

7.4

—@— PHopt

—@— PHI

—&— PHO

arning: col ['PHC'] is missing

31.5 A

31.0

30. 5

30. 0

29.5

29.0

28.5 -

Warning: col ['WCperMraw',

"WCperMavg'] is missing

—@— WCperM

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

28 A

26 A

24

22 -

20 —MWMWWMW{

30 —mmmmmmmmmml —0—  begM
|
|
|
I
|
|
|
|
|

adjFVOR

Warning: col ["adjFVIRraw’,

"adjFVIR", "adjFVORraw' ] is missing

FRA
FRC
FRraw
FR

60. 0

97.5 -

95.0

52.5

50. 0

47.5 -

45.0

42.5 -

—@— beg wc

40

60

400 -

300 -

200 -

100

@ postFgEtraw
—0— postFgEtavg
—@— postFgEt




o

- 100

[=] (=] (=] (=]
© © < N
1 1 1 1

{_ 11— -

| .
bl 1] B

FgDain



oooooo o tron T R
Nk
. VAN
1000 AN 2} mv MV/ f/ \[’\ //T"*?
AR SN SN SETS
I /\
,N\ /\/\A
APRAT A
M P v \/ »
I /A\ I
. /f/A\Ax\ /\vﬂ\ A [ﬁ \L /\V/ V\ /'4 \ 8 vy v \\P
I A
' v
e AL St N A T ™
UN M \M/\ T V/\/\/
YaRA AR |
| | :
w00l ! »oe
A //\XA g Wﬁrﬁy ' T\\* Ny /M A mv/ \/"\\ ™
-t U T - N\
| - A
iZ | | \r
: / A \WVJAU VAW UV WeaV,
iZ \,;JA“
nl s Tl
: AN |
A ﬁ’v&v’wévﬂ [ N




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

ETcI ETcIdef ETcP ETcPT ETC|IS

ESo

EToI

ETbal

pR

pVPD

PPFD

— -

RH

1.0

0.8

0.6

0.4

-0.2

-0.0



ETcl

ETol

VN

° ° ° ° °
2500 - : . : . :
o0 o o oo 'Y ®
° o © L ° Qo0
2000 1 - 1 ° H 1 oy 1 4 1 e°
° ° o % ¢ o ©
¢’ o ¢ % o ® _%¢% 'Y N © o®
1500 1 T % ‘c‘ib T o %0% o: o | e .‘a ] o ® % T % ’.5 '
o ¢ o %° g 0 e ¢ e® %
S ° ¢ o
1000 | | [ 1) ., | o ° Y o () 1 () .’z | .‘L. | o ° () )
e o o, ¢ e O 2% oe®
o® o F- & R W o 000 .:g.'. ® oo (s.o‘b‘o, o o ¢ oe o
500 - 1 q@e o "o _ o0 %% 0 1 % o % eg | o386 ] *% o Co
(0 ° ® . ® o 9@ e o « o® © o %% o o o 3 o>
01 1® °* °& €% e% % % o eeee o {ee®ges®e ° { & {° %° o 2%
T T T T T T T T T T T T T T T T
1800 1 1 1 1 1 1
3 S (L N
1600 - 0,0 o . P L XY . 0o g% . ®% o
%o %% a & o® e ox:'o': ° w»® ..‘oo o ®e 02 ® * . ¢
1400418 o B f88 ¢ - 0se’%8, Too®® 1% ®0e o ” © 122 o 43 o ¢ -
©% o ‘..O'S o %% \94(: e ° r 1 %’» e % o® o0 °. ° :
1200 + ¢ . 8% , 7 ° ..6 ° 7 °® o): 7 ° . °°°, 7
i oo i e o i o 8 i o0 i
1000 { ¢, o %o ® o o . - % oo " e
() (] e ® o ° ® o ° ..
800 o @ ° Jde ® ¢ 4 ® 9 ¢ 1l e © N 4
o°® ° ¢ o ° o®
600 - () e © 1@ ) ) [ _ () ® o) 1 @ ) ([ 1] ]
g. [ ‘. Y o e)
i ° i ° i ° o ]
26 1 ° ] ° y ] ° y ° ] °
244 o ..,.o ° - 1 e o...'. 1 e P o | o o6 o®
@® ° e® G @ ® o o
2] ee S .o i 1o o N .. ° |l oe . .. | ° e .o
(7 ) ) () ) o ) (4 ) s © 0q W@ o
Lo o® of Soe’c o %° o o% e oo 8% 0%l ce ° ° :))s‘-'"s o
201 8%, o® ® 1 1 “oene 1 %eeyd ® ®o 1 ° % e
- e % o o o ° e® |0 "o ° o ¢ ° ®
° ° °
L oy © ® 9 ° ® [ ° ®
161 8 ° ° - - (H . {og® °° o 1e ® °*° o,
°, ® ° o ® ° . ® ° ® °
4] o ] ] ° 1l o 1l o
% ® e ) oo ®
12 T T T T T T T T T T T T T
o e o
i e o i i ® 9 °
90 v s. ) .« . o
) (Y ® (Y
go{ ¢ ° o ® - 1°¢ ° e
°
° .u.rtg ¢ LUK ‘ ° vee r.i.'é..
I70—.. 0Ce o ° . ° - .® ® ®o:5%
= o de >y ° o® ¢ o a®e @ 0o 0 %o.°
601 o @0 @ 4 o W o - ® (1N 4 ® oo~
® o W ° 06®% o |® o *° ° 0 ® %° o
® ° 90 ® () ® ®
¢ L °
5018 i ° ®°e 1 o® o i ° ° o
° ° °
T T T T T T T T T T T T T
°q . o . %
2000 - . o‘. ®o - 9,. o; - O. .(o - o @ o..
%e . .o ® ® o o R .o o ©
1500 o * ° - o o © . .- © ¢ 1 & .
“c® o ® %o * P o o e %% o
os: ® o _© g0 °® 0'0 ve s ®
1000 - 2% o*” 1 e 0® %0 . % @ o 1 o %o°°C,
:2) e o ® ° o9 LX) ° o © °
ofo» o % @ ® ¢ o0 0 ® o0
500 + o H 4 A @e° ° ® A ) *® e o 7 °o %% .
@ ° e ¢ o ° S o 00 PY % © o
® ° e ® ° o0 °
i ® o, e % |o 0o 00% ¢ o i %° &%
@ o ® ¢
] ee ¢ ] i ® oo ]
400 cel 0088 © o * W o ¢
c e ® 0,°%°5 °° o o, 006Q¢ ,°
'!o.‘ S oY o o ® s ® 90
3001 © ao °0 % 1 ] ® a2 ¢ |
@', ¢ % © °. osf e oo
) .o ® ) o ) L]
e ® 0
2001% € e . 10 o ° ° 1
o0 e o
° ° °
100 - : . :
° ° °
° ° °
T T T T T T T T T T T T T T T
0 1000 2000 500 1000 1500 15 20 25 40 60 80 0 1000 2000 100 200 300 400

ETcl ETol T RH VN I



3000 -

2500

2000

1500

1000 ~

500 -

50

100

150

baiA

baiB

1.0

1.2038

0.0216

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1.

bs

[<]

0

2000

1500 -

1000 -

500 -

= Fit vs obs: a=1.11,

b=-195. 26,

r=0. 94

1.0

500

1000

Fit

1500

2000

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6

0.8

1.

0



hour

100

80

- 60

- 40

WA R WA
Fed a8 @& S
Q VX X

T

§_

7
L e
N
4
2

%

N
“%

2

o
-



P3-1

B K G [ ERE EH/H) [ EREE T/ K) [R5 T
278 150.0 7583 | B e
278 150.0 2383 | Bt Hi#e08. 30 T
278 150.0 2353 | HH | HiHe09 25 L
- 250 2. 387 Eg FH@09.25 RANFE[F CRATERGED
278 150.0 2383 |5t Hi#eT0-50 L
278 150.0 2383 | R HiHeTT 30 L
- 250 2. 387 Eg FH@11.30 RANFE[F CRAERGED
278 150. 0 2383 | BT Hiers 4 M i —
278 750.0 2387 | AiHieis20 i
- 250 2. 387 Eg FH@13:.20 RN CRATERGED
- 250 2. 387 Eg FH@14.00 RN CRAERGED
278 750.0 2357 T B Titieis o5 i
278 150.0 7583 | B el 2 )
3614.0_(13%) 7950.0 ' eI Jo 2 Alisly (AR
ZWGH WEC: 1720, PH: 6.5




ET (ml/hr/plant)

0.2

908

200

100

1.0
0.8
0.6
0.4
0.2

0.0
800

600
400

200

30

25

20 -

oo

80 A

60

0.6

0.4+

0.2

P3-1_0, Day=80 (2025-06-17)

300 35 3

| T

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

00

1610

00

- 1500

- 1000

- 500

=1

optEC0=3000. 0, setECB=1720

optPH0=6. 5, setPHB=6.5

- ByWon:@DSO 01:48: ET=1610 Fg=1950. 0 Ro=382.

0

-y -

el

10

11

12

_7

- 2000

- 1000

16

17

18

19

20

21

22

23

i B

E3

B

E3
B

=
B

=3

B

£33
B

E3
]

E3
B

=
B

£33
B

%=

%=

\ A A WarRing:

', 'PPFD_obs’] is missing

, 'To_obs’'] is missing

—— RH

Warning: lcol ['RH obs’,

"RHo_obs’] is missing

0.0 0.2

0.4

0.6

0.8

1.

0

o
N
FRV (ml plant-1)

FRV (ml d-1)

cumET (ml/plant)



hour

100

10:10 -
80

12:10 -
- 60

14:35 -
- 40

15:10
20

17:10
s b ! | -0

6«‘%@ &,sai‘/f‘_ %ﬁ% Fig @\/ %\ qf@ @\\fé@,*»’é @*iéi@% & B



P3-1

B[] [ ERRT K (F0) | Blte (Z71/4k) | Edee (1/X) [R5 o

15:10 273 150. 0 2.583 '] RiEe15:10 Ha CRAE )
17:10 273 150. 0 2. 583 RRe17:10 Bz CGRAERS)
23F 546.0 (20K) 300. 0 ZEWUFIREC: 1680, PH: 6.




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=79 (2025-06-16)

150

100

50 A

VI, VO28/ ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

440 420
352 B

300 29

8 Warning: [col ['FVI',| "FVO’'] missing ‘0 “

T

-
. v 4
FRV

Warning: [col ['WC1’, "WC2'] missing

optEC0=3000. 0, setECB=1680

Warning: |col ['ECB’, "ECC’'] missing

optPHO0=6. 5, setPHB=6.5

Warning: [col ['PHB', 'PHC'] missing

200 A

100 A

]
BylInit} @D80 01:48: ET=1145 Fg=1350.0 Ro=251.0

——— =

/
/

 — —— 2 —

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 20 21 22 23

300

Mi|<©

= %= BB | BB | /e | /e | v | v | v [ e [N [N [N | NER [NER | R AR VB | B R E | BB | KB | B

200 A

100 A

B B B B
ByEt @D79 19:22: ET=622 Fg=300.0 Ro=nan

{ 2 J
®
{ 2 4
®

e (W]

J

|

300

' : ’ J P hd e
0 1 2 3 4 5 6

7 8 9 10 11 12 13 14 15 16 17 18

—_
©

20 21 22 23

E3 E3 = E3
B 5] B B

2N EZNE I HEH EF I E R E R E R E R E R NI P I I R A N R R

=

200 A

100 A

1.0

]
ByWon: @D80 01:48: ET=420 Fg=300.0 Ro=0

{ 2 J
®
{ 2 4
®

0.8 -

35|35 ||| ZR| B | B | B |5 5B 5E(EZa|[m| KM/ BB | B | | B [iF[E[KE [

0.6 -

0.4 A

0.2 A

600 -

400 -

200 -

Y

—_—
® | _obs
—@— PPFD_obs

A__A

25 -

20

15 1

_— T 4
[ ] T obs
(] To_obs

95 A

90

85 -

—— RH
() RH_obs-rning: col -["RHo_obs’ ] is

0.4 A

0.3 A

0.2 A

0.1 4

hour

600

1)

400

0
200

150

100

50

2000
1

1500

1000

ol
o
o

J~]
o
o
o

1500

1000

ol
o
o

J~]
o
o
o

1500

1000

ol
o
o

N
=}
S
FRV (ml d

FRV (ml plant-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



29

28 -

27 A

26

M_E

500

T T T
600 700 800

m=480,m FV0=0

T
900

30

28

26

24 -

——

M_Ww

480

485 490

m=480, FV0=0

29 A

28 A

27 A

26 A

——

M_E

32

T
480

T T
485 490

m=885,m FV0=0

30 -

28 A

26 -

24 -

——

MW

T
885

T
890 895

m=885, FV0=0
32
oo e, —o— MWW
29 307
28
28
26
27 4
24
—o— ME
T T T T T T T T
885 890 895 500 600 700 800 900

m




hour

0:00 -

B o & B QB K LB
% A NG S oy T
FFFII Q;&%’%g@“ & 5 & ¥

100

80

- 60

- 40



P3-1

BYE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

09:10 273 150.0 2.583 FA| 1BRi%@09:10 B3h (KRAIERE)
10:10 273 150.0 2.583 [ =| Rige10:10 Bz (GRAERE)
12:35 273 150. 0 2.583 |/hfE| {Ri&e12:35 Bz (REEZEBE)
21| 819.0 (3%) 450. 0 32 03KEC: 1670, PH: 6.5

large discrepency for begining water status (220:27.0), set to 220 ml




P3-1_0, Day=78 (2025-06-15)

-] e . 0 S S E
Yo VB?¥RYV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
100 4 79 —1000i
52 504 =
50 A 440 412"} 500 =
L
64 Warning: lcol ['FVI',|"FVO'] missing I8
-0
E P200
— T
= - 150 €
3 =
oY F100 =
EI
o 25 - L 50 E
1. 0
4
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtEC0=3000.0, setECB=1670 t
0.6 -
0.4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.5 t
0.6 -
0.4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1 L 2000
= ByInit: @D80 01:48: ET=1148 Fg=1350.0 Ro=292.0 t o
§ 3007 | o [10E
N ! N
£ 200 A | - 1000 E
\ ~—
E l 5
- 100 - ! 500 €
'_. |'
1
i I 3 4 5 6 7 8 9 110 1T 121314115 1617118119720 21227 23 2000
D oo P | | | | | | | o | o | e | o | o | o | o | [ [ [ D | | B | B -
< . 1 L 1500 €
= ByEt @D78 19:34: ET=623 Fg=450.0 Ro=nan ! =
= 200 - | 1000 2
\ ~—
E o—e—o—o -
~ wl
_ 100 —1eo—o—o—o [ 900 5
) o —0 o & o —0 O I
0 A F'N 7N D U S o o | ]
0 1 2 3 4 5 6 7 ) 9 [ 10 11 [ 12 13 ] 14 15 ] 16 [ 17 ] 18 | 19 | 20 | 21 | 22 | 23 [ 2000
g -1 BNl i i) BNl N BNl il N I 0 Il e G i M M e T E S BT B E -
< . 1 L 1500 €
= ByWoFv! @80 01:48: ET=504 Fg=450.0 Ro=0 =
~ ~N
£ 200 A | - 1000 E
\ ~—
E l 5
- 100 - ! 500 €
h o 4o e e e &
1.0 PN Lo PN S B 0
0 1 2 3 4 5 6
0 g | KM | KM | A | AW |k | AW | kW |AW| B | B Bz |[Zn|Im|Am|[ m|Im| B | B 2252322282122
0.6 -
0.4
0.2
2000
—_— 4
1500 - () | _obs

—@— PPFD_obs

— RH

801 e RH_obs rning: col ["RHo_obs"] is missing

0.8 { @ ® VP




32 A

31 -

30 -

29 A

28 -

27 A

26

T T
550 600

T
650

m

T
700

34 -

32 -

30 -

28 -

26

24

—— MW

T T
550 600

T
650
m

T
700

m=565, FV0=0

30 —e— ME
29
28
27
T T T
565 570 575
m=565,m FV0=0
29 —o— MW
] .\‘""'\...
27
26
25
24
T T T
565 570 575

m=620, FV0=0

31 -

30 -

29 -

28

—— ME

620

T T
625 630

m=620,m FV0=0

30 A

29 A

28

27 A

26

25 A

—— MW

620

625 630

m=695, FV0=0

32.0

31.5 4

31.0 A

30. 5

30.0

—0—

M_E

m=695,m FV0=0

T T
695 700 705

34

32 -

30 -

28 -

—0—

MW

T T T T T T
695.0 697.5 700.0 702.5 705.0 707.5

m




hour

100

7:45 -
7:50 80
8:50
- 60
9:50
- 40
10:50
11:50 20
12:50
I I I I -0




P3-1

Bfe] [ EmAK ) | ke S/ | ales (BR[| X TR

07:50 273 150. 0 2.583 | =| 153800750 B3 TR
08:50 273 150.0 2.583 200850 B %) ITRES
09:50 273 150.0 2.583 9200950 B 50 ITRES
10:50 273 150.0 2.583 98010:50 B ETRES
11:50 273 150.0 2.583 2 011:50 B #) TEESD)
12:50 273 150.0 2.583 201250 B #) TEESD)
2311 1638.0 (%) 900. 0 ZNOFREC: 1 . 6.




P3-1_0, Day=77 (2025-06-14)

[ R e T T T e T T e T T
V1, VB¥RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 1500
1100 1100 -
100 - 20 P51 1000
E
50 - L 500 E
118 Warning: lcol ["FVI',|"FVO'] missing 64
04 -0
4200
= 35 T
=3 +150 £
: =
. F 100 —
30 ~ E
=
il L 50 =
[T
126 0
4
0.8 4
0.6
0.4 4
0.2 4
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtEC0=3000.0, setECB=1720 t
0.6
0.4 4
0.2 4
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.5 t
0.6
0.4 4
0.2 4
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
~ 300 1 Byinit} @80 01:48: ET=1448 Fg=1800.0 Ro=379.0 t 5
< - 2000 €
£ 200 - N
£ E
= - 1000
= 100 - m
o 3
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
L30T |/ | B |32 22152155 |55 | B (B2 |52 B | FA | B8 | B | | AN | /N | R | | R | | P P >
= 1 - 2000 <
= ByEt @D77 19:36: ET=1040 Fg=1029.0 Ro=nan I =
< 200 A : ~
= &8 & & =
£ 4004 — T i - 1000 ,u_é
— 1 >
(AN \H : o
0 ? S T ' 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
AN A AEAEAEAEAEAN RN AN RN NG DN N S R s I e A s o
= 1 - 2000 <
= ByWoFv! @D80 01:48: ET=975 Fg=900.0 Ro=46.0 =
~~ 200 A : ~
£ I E
— I -
E 100 4 : 1000 =
— | §
(AN : o
2
1.0 0 1 2 3 4 5 6 7 0
0l B | B | & |5 |5 |5 | % | % [P [ B [ BB | B AWM "m0 [Km|d m|d w0
0.6
0.4 4
0.2 4
0.0
—_— 4

1. 00 4

g S

o | _obs
—@— PPFD obs

[} RH_obs-rning: col ['RHo_obs'] is missing




32 -

31

30 A

29 -

28 -

27 -

£

-@— M_E

400 500 600 700 800 900
m=635,m FV0=0

31.0 - - ME

30. 5

30.0

29.5 A

29.0

7

28.5 4 | |

400 560 660 760 860 960
m=639,m FV0=0

36 7 —o— MW
35 -
34
33

32 A

31 A

7
7
7

637.5 640.0 642.5 645.0 647.5
m

m=430, FV0=0

-o— ME
30 -
29 -
28 -
27 -
T T T
430 435 440
m=705,m FV0=0
31.5 -
-o— ME
31.0 -
30.5 -
30.0 -
29.5 -
29.0 -
T T T
705 710 715
m=430,m FV0=0
34
—o— MW
32 -
30 -
28 -
430 435 440
m=705,m FV0=0
36 - —-— MW
34 4
32
30 -
705 710 715

m=485, FV0=0
32.0 1
- ME
31.5 1
31.0 1
30. 5 - ®
30.0 -
29.5 -
T T T T T T
485.0 487.5 490.0 492.5 495.0 497.5
m=780,m FV0=0
- ME
31.0 1
30. 5 -
30.0 -
29.5
29.0 -
28.5 -
T T T
780 785 790
m=485,m FV0=0

36

34

32 A

30 A

iig

—o— MW

4é5 450 465
m=780,n FV0=0

35 A

34

33 -

32 -

31 A

30 A

29 +—

-— MW

780 785 790

m=565, FV0=0

31.0 A

30.5 -

30. 0 -

29.5 A

29.0 A

28.5 -

—0— ME

5%0 5;5
m=885,n FV0=0

32.0 A

31.5 -

31.0 A

30. 5 A

30. 0 -

29.5 -

—0— ME

SéO 8é5
m=565,n FV0=0

36

34 1

32 A

30 -

—o— MW

565

36

5%0 555
m=885,n FV0=0

35 -

34 1

33 A

32 -

31 -

30 -

- MW

885

890 895




hour

105 -

:10 -

15 -

145

145

145

145

140

125

:10

:55

100

:00 -

80

- 60

- 40

20

&% "/é y S




P3-1

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

07:45 273 150.0 2.583 | =| {Ri%e07:45 B (KREEZBE)
08:45 273 150. 0 2.583 | =| 1Rige08:45 Bz (KAFERE)
09:45 273 150.0 2.583 (&=| {Ri%e09:45 Bz (REAEDSE)
10:45 273 150.0 2.583 FA| {Ri%@10:45 Bz (GRAEEE)
12:40 273 150. 0 2.583 FH| 1Ri%e12:40 Bz (REAERSE)
13:25 273 150. 0 2.583 FA| 1B2i%@13:25 B3h (kAEREE)
14:10 273 150.0 2.583 FA| {Ri&@14:10 Bz CGRAEEE)
14:55 273 150.0 2.583 FA| 1BRi%@14:55 B3h (kAIEREE)
2it]2184.0 (8%) 1200. 0 3HKEC: 1720, PH: 6.5

large discrepency for begining water status (445:69.0), set to 445 ml




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=76 (2025-06-13)

50— — T T T
VI, VO, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1396 | 1500
1100 1100 1168 =
100 10F 1000 ©
774 -
50 - 500 &
162 Warning: col ['FVI',| 'FVO'] missing 118
-0
—— ME #2000 _
— 1| T
-------------------- e ragh T 150 £
=
- 100 —
L 50 2
[T
0
U
0.8 -
0.6 -
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtEC0=3000.0, setECB=1720 t
0.6 -
0.4
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.5 t
0.6 -
0.4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
600 4 ByInit! @80 01:48: ET=1213 Fg=1500.0 Ro=308.0 000 =
' I g
©
400 A i $—8 38 3 - 1500 &
E
| L 1000 =
200 I o
16000 F500 3
1
0 Py IPS o PP ﬂ \.\\ 0
6004 0 | T [ 2 [ 3[4 [ 5[ 6 7 819 [10] 111218141516 17 [ 18] 19 ] 20 | 21 | 22 | 23
A | B3 | A | P | PA | B3 | B3 | BA | PA | M8 | /N | Nem | Vel | NRe | VeS| AN | e | AN | | | W | B 5 | B2 B2 | 2000 ©
— _ _ 1 g
400 - ByEt @D76 19:22: ET=1002 Fg=1212. 0 Ro=nan : —1500E-
, §—8 3 =
I L 1000
200 : '.Ié
o —& ©——© I - 500 3
1
0 V= P2\ V- A V=N V- 0
6004 0 | T [ 2 [ 3[4 [ 5 [ 6 | 7 |89 [10] 11 [12] 18] 14]15]16] 17 18] 19 ] 20 | 21 | 22 | 23
1 M | | B | W | M| 2=122122122] B | W | W[ B | W W8 |16 Eal2a] B | % | B B2] 00
i =910 Fg= = 5
400 - ByWon: @D80 01:48: ET=910 Fg=1200.0 Ro=45.0 - 1500 21
! - ——— z
1 L 1000
200 : '.Ié
b e e e e e - 500 3
1
1.0 P la PN PN Py \.\/IiI: 0
01 11 21 31 4151 61 71819 1011 1213141516 ] 1718197272 [22] 23
084 FA [A A FA 3] EREARERSEZAEZS N FA FA [A A FA BH |\W|Z=|5=| B 5 REES
0.6 -
0.4
0.2
1600
—_— 4
[ ] | _obs
PPFD_obs
30
25
20
15
90
80
704~ R
e RH_obs-rning: col ['RHo_obs'] is missing




32.

31.

31.

30.

30.

29.

32.

31.

31.

30.

30.

32 A

31

30 A

29

28 -

27 -

26

-@— M_E

T T T T
600 700 800 900

m=665,m FV0=0

T
500

0

—0— ME

T T T T T
667.5 670.0 672.5 675.0 677.5
m=920,m FV0=0

—o— M_E

i

gé5 950
m=600,n FV0=0

920

36

34

32 -

30 -

-— MW

7

600 605 610

29.

28.

28.

27.

27.

26.

26.

31.

31.

30.

30.

29.

29.

36

34 -

32 -

30 -

28

26

36

35 A

34 1

33 A

32 -

31 -

m=480, FV0=0

0 - —&— ME
T T T
480 485 490
m=785,m FV0=0
J/f/f/f/’\!\t\.\.\oh.\:h.\i.
T T T
785 790 795
m
-0 MW
500 600 700 800 900
m=665,m FV0=0
-0— MW

665.0 667.5 670.0 672.5 675.0 677.5
m

m=530, FV0=0
—e— MNE
31 4
30 -
29 -
28 B T T T
530 535 540
m=835,m FV0=0
31.5 - —&— ME
31.0 A
30. 5 -
30.0 -
29.5 -
29.0 -
T T T
835 840 845
m=480,m FV0=0
32 -
—— MW
30 -
28 -
26 -
480 485 490
m=785,m FV0=0
—— MW
35 N .
34 -
33 1 \0—0\'_*'
32 -
31 -
785 790 795

31.

31.

30.

30.

29.

29.

31.

30.

30.

29.

29.

m=600, FV0=0
5 - ME
0 -
5 -
0 -
5 -
0 -
600 605 610
m=880,m FV0=0
0- —o— ME
? '2.\‘”°\o—o~o
0 -
5 -
0 -
880 885 890
m=530,m FV0=0
36 —— MW
34
32 4
30 4
28 -
530 535 540
m=835,m FV0=0
—— mW
35
34
33 4
32 4
31 4
30 4
835 840 845




m=880, FV0=0

35 -

34 -

33 -

32

31 4

30

—0—

M_w

880

T
885

890

m=920, FV0=0

36

35 A

34

33 -

32 A

31 1

—0—

M_W

920

T
925

930




